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R17M3-Spektralwerte Ysum=100
x−R17M3,s(λ)=A11l

−
R17M3,s(λ)+A12m

−
R17M3,s(λ)

+A13s
−

R17M3,s(λ)
A1j 1,3200 −0,6600 0,3400 (λ=570)

P60:Σx−R17M3,s(λ)=97,72
xR17M3,s=0,3252
yR17M3,s=0,3314
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R17M3-Spektralwerte Ysum=100
x−R17M3,s(λ)=A11l

−
R17M3,s(λ)+A12m

−
R17M3,s(λ)

+A13s
−

R17M3,s(λ)
A1j 1,3200 −0,6600 0,3400 (λ=570)

P55:Σx−R17M3,s(λ)=96,34
xR17M3,s=0,3325
yR17M3,s=0,3415
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R17M3-Spektralwerte Ysum=100
x−R17M3,s(λ)=A11l

−
R17M3,s(λ)+A12m

−
R17M3,s(λ)

+A13s
−

R17M3,s(λ)
A1j 1,3200 −0,6600 0,3400 (λ=570)

P50:Σx−R17M3,s(λ)=95,07
xR17M3,s=0,3415
yR17M3,s=0,3531
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R17M3-Spektralwerte Ysum=100
x−R17M3,s(λ)=A11l

−
R17M3,s(λ)+A12m

−
R17M3,s(λ)

+A13s
−

R17M3,s(λ)
A1j 1,3200 −0,6600 0,3400 (λ=570)

P45:Σx−R17M3,s(λ)=94,05
xR17M3,s=0,3529
yR17M3,s=0,3664
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R17M3-Spektralwerte Ysum=100
x−R17M3,s(λ)=A11l

−
R17M3,s(λ)+A12m

−
R17M3,s(λ)

+A13s
−

R17M3,s(λ)
A1j 1,3200 −0,6600 0,3400 (λ=570)

P40:Σx−R17M3,s(λ)=93,52
xR17M3,s=0,3675
yR17M3,s=0,3815
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R17M3-Spektralwerte Ysum=100
x−R17M3,s(λ)=A11l

−
R17M3,s(λ)+A12m

−
R17M3,s(λ)

+A13s
−

R17M3,s(λ)
A1j 1,3200 −0,6600 0,3400 (λ=570)

P35:Σx−R17M3,s(λ)=93,89
xR17M3,s=0,3863
yR17M3,s=0,3982
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R17M3-Spektralwerte Ysum=100
x−R17M3,s(λ)=A11l

−
R17M3,s(λ)+A12m

−
R17M3,s(λ)

+A13s
−

R17M3,s(λ)
A1j 1,3200 −0,6600 0,3400 (λ=570)

P30:Σx−R17M3,s(λ)=96,00
xR17M3,s=0,4110
yR17M3,s=0,4155
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R17M3-Spektralwerte Ysum=100
x−R17M3,s(λ)=A11l

−
R17M3,s(λ)+A12m

−
R17M3,s(λ)

+A13s
−

R17M3,s(λ)
A1j 1,3200 −0,6600 0,3400 (λ=570)

P25:Σx−R17M3,s(λ)=101,61
xR17M3,s=0,4434
yR17M3,s=0,4309


